		Parisi Construction Co., Inc.		S&L Underground, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel, Inc.	R. G. Huston Co., Inc.	Maddrell Excavating, LLC
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
Section B: Proposal Page								
10701 - TRAFFIC CONTROL - LUMP SUM 10770 - MAINTAIN RESIDENTIAL	1.00	\$3,600.00	\$3,600.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$5,500.00
DRIVEWAY ACCESS - EACH 10801 - ROOT CUTTING – CURB &	3.00	\$150.00	\$450.00	\$400.00	\$950.00	\$555.00	\$940.00	\$500.00
GUTTER (UNDISTRIBUTED) - L.F. 10802 - ROOT CUTTING – SIDEWALK	100.00	\$14.50	\$1,450.00	\$20.00	\$7.00	\$0.01	\$0.01	\$9.00
(UNDISTRIBUTED) - L.F.	40.00	\$14.50	\$580.00	\$20.00	\$7.00	\$0.01	\$0.01	\$9.00
10911 - MOBILIZATION - LUMP SUM	1.00	\$88,000.00	\$88,000.00	\$47,424.00	\$145,000.00	\$85,515.00	\$128,190.00	\$205,000.00
20101 - EXCAVATION CUT - C.Y.	4800.00	\$17.75	\$85,200.00	\$18.50	\$21.10	\$20.70	\$24.05	\$20.50
20130 - UNDERDRAIN - L.F.	455.00	\$17.75	\$8,076.25	\$14.60	\$15.35	\$18.50	\$17.20	\$14.85
20140 - GEOTEXTILE FABRIC TYPE SAS	;							
(NON-WOVEN) - S.Y.	500.00	\$2.10	\$1,050.00	\$2.50	\$3.60	\$6.25	\$3.90	\$4.25
20217 - CLEAR STONE - TON	150.00	\$16.50	\$2,475.00	\$16.50	\$18.70	\$16.90	\$17.85	\$18.50
20219 - BREAKER RUN								
(UNDISTRIBUTED) - TON	1000.00	\$13.50	\$13,500.00	\$13.30	\$12.00	\$17.40	\$7.60	\$13.75
20221 - TOPSOIL - S.Y.	1000.00	\$8.20	\$8,200.00	\$12.20	\$3.80	\$9.30	\$9.95	\$6.50
20303 - SAWCUT ASPHALT PAVEMENT -								
L.F.	270.00	\$2.10	\$567.00	\$2.00	\$3.00	\$3.00	\$2.25	\$3.00
20311 - REMOVE SEWER ACCESS								
STRUCTURE (STORM) - EACH	1.00	\$550.00	\$550.00	\$862.00	\$760.00	\$2,575.00	\$430.00	\$950.00
20313 - REMOVE INLET - EACH	1.00	\$550.00	\$550.00	\$537.00	\$570.00	\$2,365.00	\$385.00	\$550.00
20314 - REMOVE PIPE - L.F.	743.00	\$22.00	\$16,346.00	\$26.00	\$28.75	\$26.00	\$34.20	\$22.00
20321 - REMOVE CONCRETE								
PAVEMENT - S.Y.	50.00	\$14.00	\$700.00	\$12.00	\$15.00	\$24.00	\$12.60	\$7.10
20322 - REMOVE CONCRETE CURB &								
GUTTER - L.F.	3140.00	\$4.70	\$14,758.00	\$2.70	\$4.15	\$4.25	\$4.70	\$3.50
20323 - REMOVE CONCRETE SIDEWALK								
& DRIVE - S.F.	12900.00	\$2.10	\$27,090.00	\$2.50	\$2.50	\$2.80	\$2.70	\$2.95
20401 - CLEARING - I.D.	21.00	\$51.00	\$1,071.00	\$50.00	\$50.00	\$50.00	\$50.00	\$45.00
20402 - GRUBBING - I.D.	21.00	\$51.00	\$1,071.00	\$50.00	\$50.00	\$50.00	\$50.00	\$45.00

		Parisi Construction Co., Inc.		S&L Underground, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel, Inc.	R. G. Huston Co., Inc.	Maddrell Excavating, LLC
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
20501 - ADJUST SEWER ACCESS								
STRUCTURE - EACH	2.00	\$360.00	\$720.00	\$359.00	\$295.00	\$2,150.00	\$325.00	\$1,175.00
20503 - ADJUST INLET - EACH	2.00	\$370.00	\$740.00	\$359.00	\$310.00	\$475.00	\$325.00	\$1,550.00
20701 - TERRACE SEEDING - S.Y.	1000.00	\$2.10	\$2,100.00	\$2.40	\$1.85	\$2.40	\$2.40	\$2.25
21002 - EROSION CONTROL								
INSPECTION - EACH	5.00	\$150.00	\$750.00	\$525.00	\$200.00	\$525.00	\$525.00	\$550.00
21011 - CONSTRUCTION ENTRANCE -								
EACH	3.00	\$150.00	\$450.00	\$687.00	\$485.00	\$555.00	\$540.00	\$525.00
21013 - STREET SWEEPING - LUMP	1.00	\$4,400.00	\$4,400.00	\$2,950.00	\$6,240.00	\$3,250.00	\$4,980.00	\$2,250.00
21014 - CLEAR STONE BERM (DITCH								
CHECK) - EACH	12.00	\$150.00	\$1,800.00	\$265.00	\$240.00	\$321.00	\$300.00	\$175.00
21018 - SILT SOCK (8 INCH) - PROVIDE,								
INSTALL & MAINTAIN - L.F.	100.00	\$8.20	\$820.00	\$8.00	\$9.00	\$8.00	\$8.00	\$8.00
21019 - SILT SOCK (8 INCH) - REMOVE &		40.40	401000	**	4- 44		**	40.00
RESTORE - L.F.	100.00	\$2.10	\$210.00	\$2.00	\$7.00	\$2.00	\$2.00	\$8.00
21049 - INLET PROTECTION, RIGID	40.00	# 000 00	# 4.400.00	# 005.00	#405.00	4005.00	# 005.00	#475.00
FRAME - PROVIDE & INSTALL - EACH	16.00	\$260.00	\$4,160.00	\$325.00	\$185.00	\$325.00	\$325.00	\$175.00
21050 - INLET PROTECTION, RIGID	40.00	#54.00	0040.00	# 000 00	#05.00	# 000 00	# 000 00	#05.00
FRAME - MAINTAIN - EACH	16.00	\$51.00	\$816.00	\$200.00	\$35.00	\$200.00	\$200.00	\$85.00
21051 - INLET PROTECTION, RIGID	10.00	¢54.00	#046.00	¢400.00	# CO 00	¢400.00	¢400.00	¢ E0.00
FRAME - REMOVE - EACH	16.00	\$51.00	\$816.00	\$100.00	\$60.00	\$100.00	\$100.00	\$50.00
21063 - EROSION MATTING, CLASS I, 30201 - TYPE 'A' CONCRETE CURB &	1000.00	\$3.10	\$3,100.00	\$3.00	\$1.85	\$3.00	\$3.00	\$4.85
GUTTER - L.F.	2000 00	ቀ ን2 00	¢74.070.00	¢20.00	¢20 E0	<u></u> የጋΕ ይበ	ተ20 20	¢20.00
30203 - TYPE 'X' CONCRETE CURB &	3090.00	\$23.00	\$71,070.00	\$29.90	\$30.50	\$25.60	\$30.20	\$29.90
GUTTER (UNDISTRIBUTED) - L.F.	10.00	 ቀፍን ሰብ	¢520.00	¢4E 00	¢46.00	ቀ ንE 00	¢4E 46	¢45.00
30208 - HAND FORMED CONCRETE	10.00	\$53.00	\$530.00	\$45.00	\$46.00	\$35.00	\$45.46	\$45.00
CURB & GUTTER (TREE LOCATIONS) -								
L.F.	100.00	\$26.75	\$2,675.00	\$45.00	\$46.00	\$25.60	\$45.45	\$45.00
30301 - 5" CONCRETE SIDEWALK - S.F.	11600.00	\$20.75 \$5.70	\$66,120.00	\$5.95	\$5.95	\$25.60 \$3.85	\$6.26	\$5.65
30302 - 7" CONCRETE SIDEWALK - S.F.	1 1000.00	ψυ. / Ο	ψυυ, 120.00	ψυ.συ	φυ.συ	ψ3.03	ψυ.Ζυ	φυ.υυ
DRIVE - S.F.	2620.00	\$6.70	\$17,554.00	\$6.35	\$6.65	\$14.85	\$6.97	\$6.35
DITIVE - O.I.	2020.00	ψ0.70	Ψ17,00-1.00	ψ0.00	ψ0.00	Ψ17.00	ψ0.37	ψ0.00

		Parisi Construction Co., Inc.		S&L Underground, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel, Inc.	R. G. Huston Co., Inc.	Maddrell Excavating, LLC
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
30340 - CURB RAMP DETECTABLE WARNING FIELD - S.F. 40101 - CRUSHED AGGREGATE BASE	256.00	\$42.00	\$10,752.00	\$33.00	\$33.00	\$42.00	\$33.33	\$33.00
COURSE GRADATION NO. 1 - TON 40102 - CRUSHED AGGREGATE BASE	2720.00	\$15.50	\$42,160.00	\$15.60	\$20.00	\$18.10	\$13.70	\$16.25
COURSE GRADATION NO. 2 - TON 40202 - HMA PAVEMENT 4 LT 58-28 S -	4420.00	\$13.75	\$60,775.00	\$15.60	\$17.40	\$16.60	\$14.50	\$16.25
TON	1740.00	\$75.00	\$130,500.00	\$72.74	\$72.74	\$72.74	\$73.47	\$72.74
40218 - TACK COAT - GAL 40231 - ASPHALT DRIVE & TERRACE	620.00	\$3.10	\$1,922.00	\$3.00	\$3.00	\$3.00	\$3.03	\$3.00
(UNDISTRIBUTED) - S.Y. 40301 - FULL WIDTH GRINDING	20.00	\$31.00	\$620.00	\$75.14	\$54.20	\$45.00	\$53.61	\$30.00
(UNDISTRIBUTED) - S.Y. 50103 - RECONSTRUCT BENCH &	20.00	\$20.50	\$410.00	\$20.00	\$20.00	\$20.00	\$20.20	\$20.00
FLOWLINE - EACH 50211 - SELECT BACKFILL STORM	2.00	\$1,200.00	\$2,400.00	\$763.60	\$1,110.00	\$1,035.00	\$1,225.00	\$950.00
SEWER - T.F. 50212 - SELECT BACKFILL SANITARY	2297.00	\$1.00	\$2,297.00	\$0.01	\$0.01	\$0.01	\$0.01	\$0.01
SEWER - T.F. 50225 - UTILITY TRENCH PATCH TYPE	3867.00	\$1.00	\$3,867.00	\$0.01	\$0.01	\$0.01	\$0.01	\$0.01
III (UNDISTRIBUTED) - T.F. 50301 - 8 INCH PVC SEWER PIPE - L.F.	500.00 2473.00	\$50.00 \$99.00	\$25,000.00 \$244.827.00	\$49.00 \$98.80	\$0.01 \$110.00	\$60.00 \$127.32	\$26.00 \$121.55	\$41.00 \$105.00
50353 - SANITARY SEWER LATERAL -		,	, ,-	,	·		·	·
L.F. 50356 - RECONNECT - EACH	1394.00 48.00	\$19.75 \$2,400.00	\$27,531.50 \$115,200.00	\$61.00 \$2,475.00	\$34.00 \$3,275.00	\$17.41 \$3,232.12	\$33.51 \$2,822.00	\$39.00 \$3,025.00
50361 - WASTEWATER CONTROL - LUMP SUM 50390 - SEWER ELECTRONIC MARKERS	1.00	\$500.00	\$500.00	\$12,360.00	\$3,700.00	\$4,100.00	\$13,495.00	\$1,950.00
- EACH 50401 - 12 INCH TYPE I RCP STORM	104.00	\$52.00	\$5,408.00	\$81.00	\$35.00	\$54.00	\$38.30	\$25.00
SEWER PIPE - L.F.	465.00	\$53.00	\$24,645.00	\$77.00	\$64.10	\$70.47	\$74.45	\$55.00

		Parisi Construction Co., Inc.		S&L Underground, Inc.	Capitol Underground, Inc.	Speedway Sand & Gravel, Inc.	R. G. Huston Co., Inc.	Maddrell Excavating, LLC
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
50402 - 15 INCH TYPE I RCP STORM								
SEWER PIPE - L.F.	1118.00	\$64.00	\$71,552.00	\$63.00	\$59.60	\$84.73	\$77.90	\$58.00
50407 - 18 INCH TYPE I RCP STORM								
SEWER PIPE - L.F.	714.00	\$71.00	\$50,694.00	\$68.60	\$69.85	\$89.52	\$83.70	\$65.00
50499 - CONCRETE COLLAR								
(UNDISTRIBUTED) - EACH	2.00	\$470.00	\$940.00	\$582.00	\$675.00	\$800.00	\$425.00	\$500.00
50701 - 4' DIA. SANITARY SAS - EACH	11.00	\$4,800.00	\$52,800.00	\$4,007.00	\$3,650.00	\$4,975.00	\$3,785.00	\$3,650.00
50723 - 3'X3' STORM SAS - EACH	5.00	\$3,300.00	\$16,500.00	\$3,328.00	\$4,270.00	\$4,921.00	\$3,641.00	\$4,500.00
50724 - 4'X4' STORM SAS - EACH	6.00	\$3,500.00	\$21,000.00	\$4,565.00	\$4,430.00	\$5,911.00	\$4,190.00	\$6,850.00
50725 - 5'X5' STORM SAS - EACH	2.00	\$5,600.00	\$11,200.00	\$5,655.00	\$5,275.00	\$7,953.00	\$6,370.00	\$9,850.00
50741 - TYPE H INLET - EACH	16.00	\$2,600.00	\$41,600.00	\$2,540.00	\$2,160.00	\$2,927.50	\$2,700.00	\$2,875.00
50791 - SANITARY SEWER TAP - EACH	4.00	\$2,700.00	\$10,800.00	\$1,523.00	\$1,400.00	\$1,974.00	\$1,790.00	\$1,850.00
50792 - STORM SEWER TAP								
(UNDISTRIBUTED) - EACH	1.00	\$1,300.00	\$1,300.00	\$864.00	\$760.00	\$1,200.00	\$1,190.00	\$1,250.00
50801 - UTILITY LINE OPENING								
(UNDISTRIBUTED) - EACH	10.00	\$810.00	\$8,100.00	\$429.00	\$710.00	\$700.00	\$600.00	\$650.00
90030 - RELOCATE WATER LATERAL								
SERVICE (UNDISTRIBUTED) - EACH	16.00	\$500.00	\$8,000.00	\$1,355.00	\$100.00	\$321.00	\$1,185.00	\$1,525.00
90031 - RELOCATE WATER MAIN								
(UNDISTRIBUTED) - EACH	5.00	\$1,500.00	\$7,500.00	\$4,796.00	\$100.00	\$1,626.00	\$4,085.00	\$5,895.00
68 Items	Totals		\$1,454,915.75	\$1,554,475.04	\$1,613,276.94	\$1,706,397.77	\$1,712,635.26	\$1,737,262.99